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Algebra 2 Test 2022 (Radicals Part 2)
Name: John Sigiarlyf:z

J

#1 Points possible: 1. Total attempts: 0

Combine the following expressions.

4/I0+3yT0=  7/10

#2 Points possible: 1. Total attempts: 0

Combine the following expressions.

5vd+8ya= |3VH

#3 Points possible: 1. Total attempts: 0

Combine the following expressions.

603 — 82y +8cyi=  OxJ3

#4 Points possible: 3. Total attempts: 0 Clwedd -4 Ju 3 t43¢043
A4y - 83 + 343

Combine the following expressions.

61/38 — 4y/12 + 4,/108 = 403

#5 Points possible: 3. Total attempts: 0

Combine the following expressions. (Assume any variables under an €ven root are nonnegatlve L
/AR A X Py m 373 3 e
7 VL«.‘ V b vV T 3( v b \ b

3 » =
7v/a®b® + ?:az\/azb5 = /O“ j) \l((zb ’Lb Vctlb* % 0 ):L) ’F_L

Vel

#6 Points possible: 3. Total attempts: 0

Combine the following expressions. (Assume any variables under an even root are nonnegatnve )

3y "'f Vi = Ix9y: \//’; Q
s s 3 _ e 1 ! .3/:_/’_ \j \.7
6z*,/8y" — 4y V3228 = QXJ \10? llﬂj ‘1—“)‘:)

#7 Points possible: 2. Total attempts: 0

Combine the following expressions.

o 8InY3 - b3
wiosym- £33
8/81 . 2 Y3 -16Y3
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#8 Points possible: 2. Total attempts 0
Multiply: \(T":‘t’; \ﬁ)( v = 6J b
(‘)Q

— o r’:
m‘\/_: \/C-vr; vE \’ ©udD

#9 Points possible: 2. Total attempts: 0

Multiply:

(6B (0v3) = A4 s = 24(5) 1LO

#10 Points possible: 2. Total attempts: o

Multiply:

VEvT+2va) = Nia waJa g (ig + 9

#11 Points possible: 3. Total attempts: 0

( 6 +2/35

Multiply:

(VB+vT) (VB —2v7) = 435 -2B5 + 435 -2/99 = 20+235 14

#12 Points possible: 3. Total attempts: o

Multiply (Assume all expressions appearing under a square root symbol represent nonnegative numbers):

(VE-1)(vE+4) = I rq/x - 1Jx -4 & 3% -

#13 Points possible: 3. Total attempts: o
Multiply:

(V-2 = (F2YG2) = B 2525 +4 £ 7-4/3

#14 Points possible: 3. Total attempts: o -

Multiply (Assume all expressions appearing under a square root symbol represent nonnegative numbers)

(\/'+\/')(\/E—\/_) - Ox +hx —/4 Qx -7 D

#15 Points p055|ble 3. Totalattempts o]

J’" cr o) =30o-{0o

| ™
\O N30 -0
Rationalize the denominator in the followi : — e s
R CERSTS (R TS RS -7
V3 + V10 TT}\
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#16 Points possible: 3. Total attempts: 0 ) y s ) . .
o 7 +4Yin r4 Y (9 416
Rationalize the denominator-in the following: ( e = \/Lfdi HJ? fé’ 7 1"_‘

/w8 N (A -NAw) ~ 7 )4
VT+4 /5 \ - +H51vr:, o

- |
)

Vi-4 T

#17 Points possible: 3. Total attempts: 0 | \//)z'fb = f
Jda-t & =

Solve forain /2a + 6 + 4 = 8.
dat @y =16

a= 2 dea = (0
#18 Points possible: 3. Total attempts: 0
L
Solve for z in v/2z + 4 = 2. Ax4Y 2)’
T = (0’ A% =L

#19 Points possible: 4. Total attempts: 0

A e P POy
. = A {-Sufbo. + .
Solve forainya + 5 = a + 5. Qa 15

ars zal410a ¢25 ((L+S>(C(+L(>

a = _ﬁ 5 L’ O:al’+qc1 .‘.IC) C(:—é C(”‘Lf

#20 Points possible: 5. Total attempts: o

The following equation will require that you square both sides twice before all the radicals are
eliminated. Solve the equation using the methods shown in the examples in the book.

ST =y +1+1

—

Ky= [S

3*\0 :(rg:“ H\(J}T Y \

(‘_’X"\O - '\jf\ 4 yri +\/:7‘-rr 1 |
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